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# Continue from last lee
Iha dem. row opsDoing, dem does net change row space of witchix

If A' is of aimed from A by elem now ops, now A = row A
Prost
We case clear row ops on
(is Interchange vows I exereise]

[ exercise)
iù) Add mal of now j to row is

A = ~ A'=

Let wE row cad, WIS WE row (A')

V = -* + Cirit... + Grit.
= ... + Ciri +... + ejr; + ... + citr; - citr;
= ... + Ci (rit tri) +... + (Cj -cit)r; + ....
E row (A')

Let we row lA's WIs oE row (A)

row (A) = row (ref (Ad)
The won-zero rows im ref cAl form a lin inder. set.

there lin indep a
Is so we can fund a basis by taking not

Is dime (row (A)) = num of leading Is in met (a)

row

rit +tri

Crte

Fact

(simili]

Ex. 2-4
A = 2

2
4
3 21 3 80-0enrisesref(A) =

Г' O O =>
C

O
O
Co O



Doug elem now ops on A changes row CA)
Counterexample:

But the linear dependence rel among the cold doesn't change.
R= mef (AD IS mef [A .:o] = [Riö]

=0

Consider

C.V, t.. +Cavn = o

cols with leading I are a basis for cat led

Those corresponding cels in A are base's for cal cad
Ex. -4 "I o

A = mef(A)= crisis

Is dive CedlAD = num of leading is = die Crow CAs
basis for col (A)

# Basis for will space
Recall: mil (M) = Ex: Mx =63

The Let R= reef (Al, them mullA) = mul (R)

c a. 111 9 51. me. see 16
Salve R$=0

Than

R*=6
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Amid (A)) = mum of free vars in R
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